CLAMP SADDLE
CAST 356 ALUMINUM

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER

RIGID CAMERA ARM
CAST 356 ALUMINUM

PLT ADAPTER

115/8"

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER

CAMERA YOKE (2) 3/8 SPLIT LOCK WASHEF
5052 ALUMINUM (2) 300 SERIES SS PEM NUT
(1) 1/2-13 BOLT
(1) 1/2 FLAT WASHER
CODE COLOR (1) 1/2 SPLIT LOCK WASHER PART NUMBER
WHT WHITE SS-SB-WAV-WHT
BLK BLACK
BLANK NATURAL COLOCR
THE INFORMATION CONTAINED IN EE—— ,
THIS DRAWING IS THE SOLE LS A,
REFRODUCTION IN PART O WHOLE i
WITHOUT THE WRITTEN PERMISSION M S TAER TN T URTINGINA RN BRE
OF SKYBRACKET IS PROHIBITED. T
APPROVALS BY DATE WAV ETROle
NOTES: DRAWN | TC 06/04/20 MOUNT
1. STAINLESS STEEL HARDWARE. SALES TS =
ENGINEERING A SS-SB-WAV B
DO NOT SCALE DRAWING SCALE: NTS|CAD FILE: ss-se-wav [sHeer 1oF T




	Sheet1
	Drawing View4


